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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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Answer all questions from

question numbers 1 to 9. Each

carry one score.

1. Notebooks purchased by a

stationery shop comes

under ...........

a) Assets

b) Income

c) Purchases

d) Liabilities

2. Fill in the blank.

....................... A/c Dr.

To Thomas & Co. A/c

(Purchased Machinery from

Thomas & Co.)

a) Purchase

b) Cash

c) Machinery

d) Goods

3. Ramesh, a dealer of Television,

sold an old furniture to Rafeeque

for ` 3,000 on credit. Identify the

day book to record this

transaction.

a) Purchase day book

b) Journal proper

c) Sales day book

d) Cash book

1 oOf¤ 9 vRqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW. KLSqLÐ]jOU 1 yVSWL¡

v}fU.

1. KqO Sðxjr] SxLÕ]¤ SjLŸV mO¨V

vL°]pL¤, JfV v]nLY¾]¤ vqOU?

a) ByVf]

b) vqvV

c) k¡S\ÿyV

d) mLi|f

2. v]ŸnLYU kPq]Õ]¨OW.

....................... A/c Dr.

To Thomas & Co. A/c

(SfLoyV B¢cV WÒj]p]¤ j]ÐOU

Rox]jr] vL°]\ÿO)

a) k¡S\ÿyV

b) WLxV

c) Rox]jr]

d) yLij°¥

3. Ras]v]x¢ v]sVkj¨LqjLp qSoxV

KqO kup l¡e]\ÿ¡ 3,000 qPkpV¨V

rl}¨]jO WaoLp] v]ãO. CT CakLaV

JfO mO¨]sLeV SqXRÕaO¾OW.

a) k¡S\ÿyV ScmO¨V

b) S^¡e¤ SNkLÕ¡

c) Ryp]¤yV Sc mO¨V

d) WLxV mO¨V

(9 × 1 = 9) (9 × 1 = 9)
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4. Bank Reconciliation Statement

is prepared by .........

a) Bank

b) Depositor

c) Creditor

d) Debtor

5. Rent paid ` 4,500 was entered in

cash book as ` 5,400. This is an

error of ...............

a) Principle

b) Omission

c) Compensating error

d) Commission

6. .............. reserve is not shown in

the Balance Sheet.

a) Secret

b) General

c) Revenue

d) Capital

7. James sold goods for ` 10,000 to

Rajeev and a promissory note

was prepared for a period of 2

months and endorsed to

Raheem. Who is the drawer of

the promissory note?

a) James

b) Rajeev

c) Raheem

d) None of these

4. mLËV r}W¦y]Ssx¢ SðãVRo£V

fáLrL¨OÐfV ............ .

a) mLËV

b) j]SƒkW¢

c) RNWc]ã¡

d) RcmVã¡

5. 4,500 qPk vLaW jsVW]pfV

WLxVmO¨]¤ 5,400  IÐV

SqXRÕaO¾]. CfV ............... RfãLeV.

a) Nk]¢y]Õ]¤

b) Ko]x¢

c) SWLÒ¢Syã]UYV Ir¡

d) WÚ}x¢

6. mLs¢yV x}ã]¤ WLe]¨L¾fV

........................... BeV.

a) y}NWãV r]y¡vV

b) RkLfO r]y¡vV

c) rvj|P r]y¡vV

d) W|Lk]ã¤ r]y¡vV

7. R^p]UyV 10,000  qPkpORa

yLij°¥ qL^}v]jO v]ãO. 2  oLyU

WLsLvi]pOtt KqO SNkLo]yr]  SjLŸV

fáLrL¨OWpOU rz}o]jO RRWoLãU

R\áOWpOU R\pVfO. Cv]Ra

SjLŸ]R£ SNcLp¡ BqLeV?

a) R^p]UyV

b) qL^}vV

c) rz}U

d) CvqLqOosæ
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8. WaoLp] vL°]p yLij¾]R£ v]s

WºOk]a]¨L¢ cm]¥ I¢Na]

y]ðU DkSpLY]¨L¾ B¥

fáLrL¨OÐ A¨TºV ............... .

a) SaLŸ¤ RNWc]Sã¡yV

b) SaLŸ¤ cmVSã¡yV

c) m]¤yV ry}vmV¥

d) m]¤yV SkpmV¥

9. KãRÕŸf]Rj WRº¾OW.

a) W}SmL¡cV

b) oTyV

c) MICR

d) Nk]£¡

10  oOf¤ 15  vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹¾]jV D¾qRouOfOW.

KLSqLÐ]jOU 2 yVSWL¡ v}fU.

10. fLRu RWLaO¾]q]¨OÐvpOoLp]

mÌRÕŸ A¨Tº]°V ff~U

WRº¾OW.

a) 10 W]SsL AyUyVWQf vyVfO

¨¥ 5,000 qPkpV¨V vL°]pfV

A¨TºV mO¨]¤ SqXRÕaO¾]

pfV 5,000 qPk IÐLeV.

b) m]y]jô]R£ ByVf] ISÕLuOU

DaoòqOSapOU kOrSopOtt

vqOSapOU mLi|fpV¨V

fOs|oLp]q]¨OU.

8. .............. account is prepared by

a trader, who does not maintain

the double entry system of

accounting, to find out the value

of credit purchase.

a) Total creditors

b) Total debtors

c) Bills receivable

d) Bills payable

9. Find the odd one out.

a) Keyboard

b) Mouse

c) MICR

d) Printer

Answer any five from question

numbers 10 to 15. Each carries

two scores.

10. Identify the accounting

principles related to the

following :

a) Purchased 10 kg of raw

materials for `  5,000 was

entered in the books of

account as ` 5,000.

b) Assets of business are always

equal to the claims of owners

and outsiders.

(5 × 2 = 10) (5 × 2 = 10)
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11. Rectify the following errors.

a) Sold goods for `  7,000 to

Sangi & Co., entered in

Purchase day book.

b) Rent paid ` 4,000 debited to

Landlord account.

12. Insurance premium of ` 6,000

was paid for a period of one year

on 1st April, 2015. How the

transaction will be treated while

preparing financial statements

for the year ending

31st December, 2015?

13. Write any two features of using

computers in accounting.

11. fLRu RWLaO¾]q]¨OÐ RfãOW¥

f]qO¾OW.

a) yUY] B¢cV WÒj] 7,000 qPk

pORa yLij°¥v]ãfV k¡S\ÿyV

Sc mO¨]¤ SqXRÕaO¾].

b) 4,000 qPk vLaW RWLaO¾fV

DaoòR£ A¨Tº]¤

SqXRÕaO¾].

12. 6,000 qPk C¢xPr¢yV Nk}o]pU

2015 JNk]¤ 1jO KqO v¡xS¾¨O

jsVW]. 2015  c]yUm¡ 31jO

AvyLj]¨OÐ yLÒ¾]W

v¡xR¾ We¨OW¥

fáLrL¨OSÒL¥ CfV I°RjpLeV

kq]Ye]¨OÐfV.

13. WUk|PŸrOW¥ A¨Tº]°]¤

DkSpLY]¨OÐf]R£ qºV

yv]SwxfW¥ IuOfOW.
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15. KqO òLkj¾]Rs RfLu]sLt]RpÐ

I£]ã]pORa JRfË]sOU qºV

BNa]m|PŸOWtORa SkRquOfOW.

16  oOf¤ 19  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

KLSqLÐ]jOU 3 yVSWL¡ v}fU.

16. KqO m]y]jyV òLkj¾]¤

DkSpLY]¨OÐ yLij°¥ v]v]i

SkqOWt]¤ Ar]pRÕaOÐO. fLRu

RWLaO¾]q]¨OÐ yÎ¡n°t]¤

yLij°tORa SkRquOfOW.

a) v¡xLvyLjU DkSpLY]¨LRf

mL¨]vqOÐ yLijU.

b) pLNfLoSi| DkSpLY wPj|oLp

yLij°¥ f]q]\ÿO j¤W]pL¤.

c) yLij°¥ ke¾]SjL

WaoLSpL v]¤¨OWpLReË]¤.

15. Write the name of any two

attributes of the entity employee

in an organization.

Answer any three from question

numbers 16 to 19. Each carries

three scores.

16. In a business organization, goods

are known in different names.

Write the names used for the

goods in the following cases.

a) Goods remaining unused at

the end of the year.

b) Goods returned by the buyer

due to breakage in transit.

c) Goods sold for cash and

credit.

14. Match the column A with

column B.

                A                                   B

a) Data Processing i) Data Storage System

cLãL SNkLyô]UYV cLãL SwXq]¨OÐ yUv]iLjU

b) Front end interface ii) Convert data into information

Nl£V I¢cV C£¡SlyV cLãLRp v]vq°tL¨] oLãOÐO

c) Reporting system iii) Link between user and software

r]SÕL¡Ÿ]UYV yUv]iLjU DkSnLWVfLvOU SyLlVãVRvprOU mÌ]Õ]¨OÐO

d) Back end database iv) Final output

mL V̈ I¢cV cLãLSmyV AvyLj D¤ÕÐU

14. SWLtU A SWLtU B  pOoLp]

S\qOUka] S\¡¨OW.

(3 × 3 = 9) (3 × 3 = 9)
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17. 2017 RopV 10jO KqO RRcj]UYV

Sam]¥ DºL¨LjOtt KqO KL¡c¡

SrLp¤ l¡e]\ÿr]jO sn]¨OÐO.

2017   ^PRRs 15jO Nkv¡¾]

kP¡¾]pL¨OWpOU 2017 ^PRRs

20jO RRcj]UYV Sam]¥

DkSnLWVfLv]jO RRWoLrOÐO. 2017

^PRRs 25jO fOW sn]¨OWpOU

R\áOÐO. JfV f}pf]p]sLeV CT

CakLaV RrLp¤ l¡e]\ÿr]R£

mO¨]¤ SqXRÕaO¾OÐfV?

IÍORWLºV?

18. fLRu RWLaO¾]q]¨OÐ Nap¤

mLs¢yV RfãORºË]¤ f]qO¾OW.

17. Royal Furniture received an

order for making a dining table

on 10th May, 2017 and they

complete the work on 15th July,

2017. The dining table was

delivered to the customer on 20th

July, 2017 and received the

payment on 25th July, 2017. In

which date this transaction will

be recorded in the books of the

Royal Furniture? Why?

18. A Trial Balance is given below.

Rewrite it, if there is any

mistake.

Trial Balance as on 31st March, 2017

Account Title Debit Credit

` `

Capital 2,00,000 –   .

Purchases 50,000 –   .

Sales Return –   . 4,000

Sales –   . 1,28,000

Purchase Return 3,000 –   .

Machinery –   . 1,50,000

Building –   . 1,00,000

Cash –   . 27,000

2,53,000 4,09,000
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19. W} BNa]m|PŸ]Rj WOr]\ÿV DhLzqe

yz]fU R\rOWOr]ÕV fáLrL¨OW.

20  oOf¤ 22  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

KLSqLÐ]jOU 4 yVSWL¡ v}fU.

20. fLRu RWLaO¾]q]¨OÐ v]vq°tO

Ra Aa]òLj¾]¤ 2017 c]yUm¡

oLyR¾ o]j¡vÿ SNaScuVy]R£

A¨TºV fáLrL¨OW.

c]yUm¡: 2017

c]yU: 1 o]j¡vÿ SNaScuVy]¤

j]ÐOU 50,000 qPkpO

Ra yLij°¥ vL°].

c]yU: 5 o]j¡vÿ SNaScuVy]jO

40,000 qPk jsVW].

c]yU: 10 70,000  qPkpORa

yLij°¥ o]j¡vÿ

SNaScuVy]jO v]ãO.

c]yU: 15 26,000  qPkpORa

l¡e]\ÿ¡ o]j¡vÿ

SNaScuVy]¤ j]ÐOU

vL°].

c]yU: 20 75,000  qPkpORa

Rox]jr] o]j¡vÿ

SNaScuVy]¤ j]ÐOU

vL°].

c]yU: 25 o]j¡vÿ, SNaScuVy]jO

1,00,000 qPk jsVW].

19. Write a short note on key

attribute with an example.

Answer any two from question

numbers 20 to 22. Each carries

four scores.

20. Prepare Minerva Traders A/c

from the following information

for the month of December 2017.

December 2017

Dec 1 Purchased goods from

Minerva Traders

` 50,000.

Dec 5 Paid `  40,000 to

Minerva Traders.

Dec 10 Sold goods to Minerva

Traders ` 70,000.

Dec 15 Purchased Furniture

from Minerva Traders

` 26,000

Dec 20 Purchased Machinery

from Minerva Traders

` 75,000.

Dec 25 Paid `  1,00,000 to

Minerva Traders.

(2 × 4 = 8) (2 × 4 = 8)
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21. Compute the cost of goods sold

and gross profit with the help of

the following information.

Purchases ` 3,00,000

Sales ` 4,00,000

Purchase return ` 2,000

Sales return ` 3,000

Wages ` 50,000

Carriage inwards ` 10,000

Salaries ` 25,000

Stock on 01–01–2017 ` 60,000

Stock on 31–12–2017 ` 80,000

22. From the following particulars,

find out total purchases.

21. fLRu RWLaO¾]q]¨OÐ v]vq°tO

Ra Aa]òLj¾]¤ SWLðV KLlV

YOcVyV SyL¥cOU RoL¾ sLnvOU

WRº¾OW.

k¡S\ÿyV ` 3,00,000

v]¤Õj ` 4,00,000

k¡S\ÿyV r]SŸ¦ ` 2,000

Ryp]¤yV r]SŸ¦ ` 3,000

WPs] ` 50,000

WLSq^V C¢Sv¡cV ` 10,000

wÒtU ` 25,000

SðL V̈ 01–01–2017 ` 60,000

SðL V̈ 31–12–2017 ` 80,000

22. fLRu RWLaO¾]q]¨OÐ

v]vq°tORa Aa]òLj¾]¤ BRW

k¡S\ÿyV WºOk]a]¨OW.

Creditors on 1st April, 2016 ` 60,000

Creditors on 31st March, 2017 ` 40,000

Cash paid to creditors ` 50,000

Return outwards ` 5,000

Bills payable accepted ` 16,000

Discount received ` 4,000

Bills payable dishonoured ` 2,000

Cash purchase ` 47,000
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Answer question numbers 23

and 24. Each carries five scores.

23. Prepare a Bank Reconciliation

Statement as on 31st December,

2017.

23 DU 24 DU S\Lh|°¥ qºOU  D¾qU

IuOfOW. KLSqLÐ]jOU 5 yVSWL¡ v}fU.

23. 2017  c]yUm¡ 31  jO mLËV

r}W¦y]Ssx¢ SðãVRo£V

fáLrL¨OW.

a) Balance as per cash book ` 20,000

b) Cheques deposited and cleared but

omitted to record in cash book ` 4,000

c) Cheques issued but not presented

for payment ` 6,000

d) Bank charges debited in Passbook ` 800

e) Cheques deposited but not collected ` 7,000

f) Interest credited in Passbook ` 500

(2 × 5 = 10) (2 × 5 = 10)
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24. On 4th May, 2014 Rajan sold

goods to Kabheer for ` 25,000.

Kabheer paid `  5,000

immediately in cash and

accepted a bill drawn by Rajan

for the balance amount for a

period of 2 months. On maturity

date Kabheer requested Rajan

to cancel the old bill and to draw

a new bill upon him for a period

of 3 months. He also agreed to

pay interest at 6% p.a. in cash.

Rajan agreed and cancelled the

old bill and drew a new bill. The

new bill was accepted and met

by Kabheer on due date. Pass the

journal entries in the books of

Rajan.

24. 2014 RopV 4jO 25,000 qPk pORa

yLij°¥ qL^¢ Wm}r]jO v]ãO.

5,000 qPk WLxLp] jsVW]. mL¨]

fOWpV¨V 2 oLyU WLsLvi]pOtt

KqO m]¤ fáLrL¨OWpOU Wm}¡

y~}Wq]¨OWpOU R\pVfO. WLsLvi]

h]vyU kup m]¤ rÇL¨LjOU

kOf]p m]¤ fáLrL¨LjOU Wm}¡

Bvw|RÕŸ NkWLqU qL^¢ kup

m]¤ rÇL¨OWpOU 3 oLyU

WLsLvi]pOtt KqO m]¤

fáLrL¨OWpOU R\pVfO. ApL¥ 6%

j]q¨]¤ ks]w WLxLp] jsVWLjOU

fáLrLp]. kOf]p m]¤ WLsLvi]

h]vyU keU Aa¨OWpOU R\pVfO.

qL^R£ mO¨]¤ S^¡esOW¥

IuOfOW.
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Answer any one from question

numbers 25 and 26. A question

carries six scores.

25. Prepare a double column  cash

book from the following

transactions for the month of

January 2018.

25 DU 26 DU S\Lh|°t]¤ JRfË]sOU

1  oLNfU D¾qRouOfOW. KLSqLÐ]jOU

6 yVSWL¡v}fU.

25. fLRu RWLaO¾]q]¨OÐ v]vq°tO

Ra Aa]òLj¾]¤ KqO, qºV SWLtU

WLxV mO¨V fáLrL¨OW.

January 1 Cash in hand 16,000

2018 Bank overdraft 6,000

......"...... 4 Salaries paid 2,000

......"...... 5 Sold goods 8,000

......"...... 7 Purchased goods by cheque 4,000

......"...... 8 Purchased machinery 5,000

......"...... 12 Deposited into bank 8,000

......"...... 15 Interest charged by bank on overdraft 500

......"...... 18 Commission received 3,000

......"...... 20 Withdrew cash for personal use 2,000

......"...... 25 Sumesh, a customer deposit directly in

bank account 6,000

......"...... 30 Withdrew cash from bank 2,000

(1 × 6 = 6) (1 × 6 = 6)
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26. 2014 ^PRRs 1jO SYL¥c¢ SðL¡yV

KqO kup kæL£V 85,000 qPkpV¨V

vL°OWpOU 10,000  qPk

jÐL¨OÐf]jOU 5,000  qPk

òLk]¨OÐf]jOU R\svL¨].

2016 ^jOvq] 1jO 50,000 qPk

v]spOtt kOf]p KqO kæL£V vL°].

10% pgL¡À v]sp]¢So¤

SfpVoLjU \L¡^V R\áOvL¢

f}qOoLj]\ÿO. 2016 ^PRRs 1jO, 2014

^PRRs 1jO vL°]p kæL£V 75,000

qPkpV¨V v]¤¨OÐO. 2017

c]yUm¡ 31  vRqpOtt kæL£V

A¨TºV fáLrL¨OW.

26. On 1st July, 2014 M/s. Golden

Stores purchased a second hand

plant for ̀  85,000, spent ̀  10,000

for its overhauling and ` 5,000

for installation. Another plant

was purchased on 1st January,

2016 for ` 50,000. It was decided

to charge depreciation at 10% on

original cost. On July 1st 2016,

the plant purchased on 1st July,

2014 were sold for `  75,000.

Prepare a plant account upto 31st

December, 2017.
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S\Lh|U 27jV D¾qU IuOfOW. Cf]jV

8 yVSWL¡.

27. fLRu RWLaO¾]q]¨OÐ Nap¤

mLs¢y]R£ Aa]òLj¾]¤ 2017

oL¡\ÿ V 31jO AvyLj]¨OÐ

v¡xR¾ sLnjxVa We¨OU

mLs¢yVx}ãOU fáLrL¨OW.

Answer question number 27,

which  carries eight scores.

27. The following is the Trial

Balance extracted from the

books of Arya Traders for the

year ended 31st March, 2017.

Trial Balance as on 31st March, 2017

Account Title Debit Credit

`  . `  .

Purchases 80,000 –   .

Drawings 6,000 –   .

Sales –   . 1,20,000

Opening stock 20,000 –   .

Sundry creditors –   . 35,000

Sundry debtors 46,000 –   .

Purchase return –   . 2,000

Sales return 1,500 –   .

Commission –   . 6,900

Wages 7,000 –   .

Carriage inwards 2,000 –   .

Carriage outwards 1,000 –   .

Salaries 10,000 –   .

Rent –   . 3,400

Bills payable –   . 16,000

Bank overdraft –   . 9,500

(1 × 8 = 8) (1 × 8 = 8)
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WPaOf¤ v]vq°¥:

a) v¡x|LÍ| SðL¨V 4,500 qPk

b) wÒtU 2017 ^jOvq] 31 vRq

oLNfSo RWLaO¾OttP

c) C¢xPr¢yV oO¢WPrLp]

jsVW]pfV 800 qPk.

d) W]ŸL¨a yLi|fpV¨V

cmVSã¡y]R£ 10% WqOf¤

RvS¨ºfLeV.

e) RWŸ]a¾]R£ 10% DU

l¡e]\ÿr]R£ 5% DU SfpVoLjU

vWp]qOS¾ºfLeV.

2017 oL¡\ÿV 31jO AvyLj]¨OÐ

v¡xR¾ sLnjxVa We¨OU

mLs¢yV x}ãOU fáLrL¨OW.

Cash in hand 4,300 –   .

Building 80,000 –   .

Furniture 23,000 –   .

Bad debts 2,000 –   .

General expenses 4,000 –   .

Insurance 6,000 –   .

Capital –   . 1,00,000

2,92,800 2,92,800

Additional information :

a) Closing stock was valued at

` 45,000.

b) Salaries paid only upto 31st

January, 2017.

c) Insurance prepaid ` 800.

d) Create a provision for

doubtful debts at 10% p.a. on

debtors.

e) Depreciate building at 5%

p.a. and furniture at 10% p.a.

Prepare Trading and Profit &

Loss account for the year ended

31st March, 2017 and a Balance

Sheet as on that date.



K-453 16

150


